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(A)LA=1coul

(B) 1 A=1 coul/sec

(C) 1 A=1sec/coul

(D) 1 A=1 volt/coul
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(A)i=C*v

B)i=C* dv/dt

(C)v=_C * di/dt

D)i=v/C
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(A) T[axui(t)] = aT[xu(t)]

(B) T[xu(t) + x2(t)] = T[xu1(t)] * T[x2(t)]

(C) Tlaxu(t)] = a*T[xu(t)]

(D) T[xu(t) + x2(t)] = T[xa(t)] / T[x2(t)]
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(A)P av=V'I

(B)P_av=V_RMS:I RMS

(CO)P_av=V m'1 m/2

(D)P av=V mI m

RLEH & T AL R A

OET TR

(B) B EESHER B %

(C) M2 E IR

(D) B ZHME1E

RCEHWERER D » WAL BASE S > A5 E 4

(A) ILBpiE 2| 4148
(B) ¥5 3k L7 £ H &4
(C) 4tk b+ 2 & fl
(D) 43 £ B

#2182 7R R (under damping) LT » & L FE 6 45 1 By foT 2

(A) b 3278
(B) 4k & % %
(C) &R M7
(D) 7 3k

RIKEFTRKGE—FRE?
(A) 7 34835 8]

(B) #& & Ak R4

(C) & HKVL ¥ #2

(D) K& thm 7 42

SR EFT R AN > ERGEARMGX AT ?

(A) 1= Cdv/dt

(B) v =L(di/dt)

(CO)v=iR

(D)i=v/R
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(A) nx1

(B) 1xn

(C) nxn
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(A) sF(s)

(B) sF(s) - f(0)

(C) -sF(s)

(D) sF(s) + f(0)
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(A) v(0)=0

(B) i(0)=0
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(A) zi1 = Z11a + Zuig

(B) Z11 = Z11a X Z11p

(C) Z11 = Z11a - Z11p

(D) z11 = 1/(z11a + Z11p)
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